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Use substitution to write an equation A "composite" is when two or more different materials are
with only the variable x. Then simplify. combined together to create one new material.

= X +@—s) = (2
SX &% —12 = 12

@X—/L :(\LJ

‘Composite Functions:lWhen two functions are combined into one function. Given these two functions: f(X) =3x2-7 and g(x) = 2x+4

f(g(x)) is read as "f of g of x"

Just as f(2) tells you to substitute 2 into the function f 1. Find f(3) 2. Find g(3)
f(g(x)) tells you to L=3 (215 = v 7@—- 6 ’>> +Y
Substitute the function g(X) into the function f(X) = 3(9) — =(, +Y

Given these =— 27— )

two functions: f(x)=5x - 2x + 12 g(x) =2x-3 3 @
— (o

substitution turns these two functions into one composite function:
f(g(X)) =———b 5(2x - 3)2 - 2(2x - 3) + 12
SCh kg -2 (2x-3) it
20X “—Goxtys — Ix FltI2

F56) = 2ox—cw , 0



Given these two functions: f(x) =3x?-7 and g(x) = 2x+4

b. find g(f(3))

a. Find f(G(3)
F()=2() 1
€(v)= 20
(3) = 2(3) vy
5 g = (o 9(’;@ =239 4Y
£y = 306)%-7 J (2o
=3 Goag)-7
>300-7 LN

Another way to write a composite is:

flgx)) —=|(feg)x)

Use these two functions:
f(x)=x+5 g(x) =3x-2

2. Find (g o /)(5)

1. Find g((1)
’F’(~Q‘-—l+~§=(j D(@D B

9C0) < 3¢-2 Lo £(5)=Sr> 1
([())—- 3([0)"1
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Given this function:  g(w) = 2w? - 7w

Find 9(9(9(2)))-

A 90GE). I o2y =2 ()" - S
5 (9¢k) N(e:gt)ﬁnd j('— Nz L0 =W
| ) 0T Y =1ty

\/ Finally, find PR
j(llH) a9 2 (1) () < }Z}[{OI‘(

Use these two functions:

f(x) =x+4 o(x) = 3x?- E}

\Y_/
1. Find f(6a)/ 2. Find g(m - 1)

= %O\B = _ 5(m~1>1~2
= Coq +‘f :B(ML_‘ZM{,Q =7

= %m”*(‘)m?%__z

- 77)4/,7’——(9‘/” +/



Use these two functions: Use these two functions:

f=x+4  g(x)=3x-2 fx) = 2x + 1 gx) = 22
1. Find f(g(iz) 2. Find (g o/)(x) 1. Find f(g(x)). Simplify.
(5(v)
oy B 26 v
+ |
= @XZ—a> + Yy = (oY 5‘
= Ix2 - 5(X‘H{ > = b 4 A+
i 2 (W H m% 3y L( v
L= - Y C s S
S N 3.5 L e R
- 33)( +L({y+‘((o BNy Y- E

Use these two functions:

flx) =2x+1 o(x) = 6\5—:8
2. Find g(f(x)). Simplify. = (2xr > {
& Oy+5
jcbﬂ_L ) (OL’LHI) -5 l?,xHo -f
[0y +2

= (Tar—




